	Solo	Free Dance			Level:	1
Competition:	Inclusive Skating Wo	rld Championships 2023 (F	Hybrid Virtual)		•	
Skater:	Mimi Lomas	Sex:	Lady		ی	тм
Age January 1st:	26	Age category:	Senior			
Club:		Country:	England		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	ıl Use Only	
Level 1						
Pose (3 to 6 seconds)			1	0.333	2.35	0.783
Step sequence (straig	ht line, basic F 3 turns,	Fx rolls etc)	1.1	0.367	2.2	0.807
Spin (1 or 2 foot, uprig	ht)		1	0.333	0.7	0.233
Total Technical Ele	ments		Total judges sco	re for elements		1.823
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (6 x WPI)		6	5.00%	5.00%	0.300
Technical Skating S	kills (Factor x Score)		1		1.4	1.400
Artistic Performance & Execution (Factor x Score)		1		1.7	1.700	
Deductions						0.00
			Total Sc	ore for Per	rformance	5.22
	Programme durat	ion (min): 1.5	Time Adjusted	d Championship Wo	orld Ranking Score	3.48

	Solo Fr	ee Dance			Level:	2
Competition:	Inclusive Skating World Cha	ampionships 2023 (F	Hybrid Virtual)		•	
Skater:	Jaroslava Vohankova	Sex:	Lady		رح	TM
Age January 1st:	38	Age category:	Senior			
Club:		Country:	Czech		INCLUS	SIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 2						
Pose (3 to 6 seconds)			1.5	0.5	3.85	1.925
Step sequence (straig	ht line, basic F 3 turns, Fx rolls	etc)	1.5	0.5	2.4	1.200
One position spin (no	change of foot)		1.5	0.5	2.2	1.100
Total Technical Eler	ments		Total judges scor	e for elements		4.225
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (9 x WPI)		9	0.00%	0.00%	0.000
Technical Skating S	skills (Factor x Score)		1.5		1.25	1.875
Artistic Performance & Execution (Factor x Score)		1.5		1.1	1.650	
Deductions						0.00
		_	Total Sc	ore for Per	formance	7.75
	Programme duration (m	in): 1.5	Time Adjusted	Championship Wo	orld Ranking Score	5.17

	Solo F	ree Dance			Level:	2
Competition:	Inclusive Skating World Ch	ampionships 2023 (F	Hybrid Virtual)		•	
Skater:	Meg McFarlane	Sex:	Lady		رم	TM
Age January 1st:	19	Age category:	Senior			\supset
Club:		Country:	England		INCLUS	SIVE
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIMI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	l Use Only	
Level 2						
Pose (3 to 6 seconds)			1.5	0.5	4.6	2.300
Step sequence (straigh	nt line, basic F 3 turns, Fx roll	s etc)	1.5	0.5	4.5	2.250
One position spin (no	change of foot)		1.5	0.5	2	1.000
Total Technical Elen	nents		Total judges score for elements			5.550
			Factor	WPI	WPI incl age	
Impairment Comper	nsation (9 x WPI)		9	54.00%	54.00%	4.860
Technical Skating S	kills (Factor x Score)		1.5		2.3	3.450
Artistic Performance & Execution (Factor x Score)		1.5		3.5	5.250	
Deductions						0.00
			Total Sc	ore for Pe	formance	19.11
	Programme duration (m	nin): 1.5	Time Adjusted	l Championship Wo	orld Ranking Score	12.74

	Solo	Free Dance			Level:	3
Competition:	Inclusive Skating Worl	d Championships 2023 (Hy	/brid Virtual)(Unified)		•	
Skater:	Sophie Carter	Sex:	Lady		رح	ТМ
Age January 1st:	22	Age category:	Senior			
Club:		Country:	England		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	None				JIMI	NO
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 3						
Twizzles, 1 Foot or 2 f	eet, c+cc, 1+ rotation, ma	ıx 3 linking steps	3.1	1.033	3.4	3.512
Pose (3 to 6 seconds)			2	0.667	4.95	3.302
Step sequence (straig	ht line, full ice surface, ba	asic F + B 3 tums etc)	2.6	0.867	3.6	3.121
One position Dance S	pin (no change of foot)		2.6	0.867	5.1	4.422
Total Technical Ele	ments		Total judges scor	Total judges score for elements		
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (20 x WPI)		20	0.00%	0.00%	0.000
Technical Skating Skills (Factor x Score)		1.5		3.4	5.100	
Artistic Performance & Execution (Factor x Score)		1.5		3.5	5.250	
Deductions			_			0.00
			Total Sc	ore for Per	formance	24.71
	Programme duration	on (min): 2	Time Adjusted	Championship Wo	orld Ranking Score	12.35

	Solo	Free Dance			Level:	3
Competition:	Inclusive Skating World	Championships 2023 (Hy	/brid Virtual)		•	
Skater:	Adonia Marshall	Sex:	Lady		IC	ТМ
Age January 1st:	10	Age category:	Pre-Novice			
Club:	Aberdeen	Country:	Scotland		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	NO
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 3						
Twizzles, 1 Foot or 2 fo	eet, c+cc, 1+ rotation, max	3 linking steps	3.1	1.033	4	4.132
Pose (3 to 6 seconds)			2	0.667	4.4	2.935
Step sequence (straig	ht line, full ice surface, bas	ic F + B 3 turns etc)	2.6	0.867	2.85	2.471
One position Dance S	pin (no change of foot)		2.6	0.867	3.25	2.818
Total Technical Elei	ments		Total judges scor	re for elements		12.356
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (20 x WPI)		20	5.00%	5.00%	1.000
Technical Skating Skills (Factor x Score)		1.5		2.9	4.350	
Artistic Performance & Execution (Factor x Score)		1.5		4.1	6.150	
Deductions						0.00
			Total Sc	ore for Pe	formance	23.86
	Programme duration	(min): 2	Time Adjusted	Championship Wo	orld Ranking Score	11.93

	Solo F	ree Dance			Level:	3
Competition:	Inclusive Skating World Ch	ampionships 2023 (Hy	/brid Virtual)		•	1000
Skater:	Emily Poulton-Smyth	Sex:	Lady		ارح	ТМ
Age January 1st:	19	Age category:	Senior			\supset
Club:		Country:	England		INCLUS	SIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	ıl Use Only	
Level 3						
Twizzles, 1 Foot or 2 fe	et, c+cc, 1+ rotation, max 3 l	inking steps	3.1	1.033	4.3	4.442
Pose (3 to 6 seconds)			2	0.667	4.6	3.068
Step sequence (straigl	nt line, full ice surface, basic F	+ B 3 turns etc)	2.6	0.867	4.9	4.248
One position Dance S	oin (no change of foot)		2.6	0.867	6.4	5.549
Total Technical Eler	nents		Total judges sco	Total judges score for elements		
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (20 x WPI)		20	5.00%	5.00%	1.000
Technical Skating Skills (Factor x Score)		1.5		3.7	5.550	
Artistic Performance & Execution (Factor x Score)		1.5		3.6	5.400	
Deductions						0.00
			Total Sc	ore for Per	formance	29.26
	Programme duration (m	in): 2	Time Adjusted	d Championship Wo	orld Ranking Score	14.63

	Solo Fr	ee Dance			Level:	3
Competition:	Inclusive Skating World Char	npionships 2023 (Hy	brid Virtual)		•	70000
Skater:	Vicki Smart	Sex:	Lady		رح	ТМ
Age January 1st:	33	Age category:	Senior			
Club:	Uttoxeter	Country:	England		INCLUS	
Paralympic Class:	Visual	Facilitation:	Independent		SKATI	
Support needed:	None				SIVALL	NO
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 3			•			
Twizzles, 1 Foot or 2 fe	et, c+cc, 1+ rotation, max 3 linl	king steps	3.1	1.033	3.65	3.770
Pose (3 to 6 seconds)			2	0.667	3.5	2.335
Step sequence (straigh	t line, full ice surface, basic F +	- B 3 tums etc)	2.6	0.867	2.4	2.081
One position Dance Sp	in (no change of foot)		2.6	0.867	1.45	1.257
Total Technical Elen	nents		Total judges scor	e for elements		9.443
			Factor	WPI	WPI incl age	
Impairment Compen	sation (20 x WPI)		20	33.00%	33.00%	6.600
Technical Skating Skills (Factor x Score)			1.5		3.2	4.800
Artistic Performance & Execution (Factor x Score)		1.5		2.8	4.200	
Deductions						0.00
	_	_	Total Sc	ore for Per	formance	25.04
	Programme duration (min): 2	Time Adjusted	Championship Wo	orld Ranking Score	12.52

	Solo	Free Dance			Level:	4
Competition:	Inclusive Skating World	Championships 2023 (H	ybrid Virtual)		•	2000
Skater:	Cameron Sargent	Sex:	Lady		ر	TM
Age January 1st:	21	Age category:	Senior			-
Club:		Country:	England		INCLUS	
Paralympic Class:	Physical	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				SIVALL	INU
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 4						
· ·	n 1 foot + more on 2 feet o	n any edge, c				
+ cc, max 3 linking ste	ps		4.6	1.533	4.6	7.052
Pose (3 to 6 seconds)			3	1	5.4	5.400
	ht line, full ice surface, do	uble 3 tums, twizzles +				
more adv. Turns)			4.1	1.367	6.5	8.886
One position Dance S	Spin (no change of foot)		3.6	1.2	6.2	7.440
Total Technical Ele	ments		Total judges scor	e for elements		28.778
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (30 x WPI)		30	39.40%	39.40%	11.820
	Skills (Factor x Score)		2.5		3.8	9.500
Artistic Performance	e & Execution (Factor x	Score)	2.5		3.65	9.125
Deductions	·	•				0.00
			Total Sc	ore for Pei	formance	59.22
	Programme duration	n (min): 2	Time Adjusted	Championship Wo	orld Ranking Score	29.61

	Solo	Free Dance			Level:	4
Competition:	Inclusive Skating World C	hampionships 2023 (Hy	ybrid Virtual)		•	7,000
Skater:	Sophie Ravenscroft	Sex:	Lady			ТМ
Age January 1st:	15	Age category:	Junior		١	3
Club:		Country:	England		INCLUS	
Paralympic Class:	Physical	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	NO
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 4						
	1 foot + more on 2 feet on a	any edge, c				
+ cc, max 3 linking step	OS .		4.6	1.533	3.5	5.366
Pose (3 to 6 seconds)			3	1	4.1	4.100
	t line, full ice surface, doub	le 3 turns, twizzles +				
more adv. Turns)			4.1	1.367	2.75	3.759
One position Dance Sp	oin (no change of foot)		3.6	1.2	4.3	5.160
Total Technical Elem	nents		Total judges scor	e for elements		18.385
			Factor	WPI	WPI incl age	
Impairment Compen	sation (30 x WPI)		30	17.00%	17.00%	5.100
Technical Skating SI	kills (Factor x Score)		2.5		2.25	5.625
	& Execution (Factor x S	icore)	2.5		1.8	4.500
Deductions	,	,				0.00
			Total Sc	ore for Per	formance	33.61
	Programme duration (min): 2	Time Adjusted	l Championship Wo	orld Ranking Score	16.81

	Solo	Free Dance			Level:	4
Competition:	Inclusive Skating World	Championships 2023 (Hy	ybrid Virtual)		•	
Skater:	Chynna Langford	Sex:	Lady		ر	TM
Age January 1st:	26	Age category:	Senior			3
Club:		Country:	England		INCLUS	
Paralympic Class:	Unified	Facilitation:	Independent		SKATI	
Support needed:	Off-ice				JIMI	110
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 4						
	1 foot + more on 2 feet or	n any edge, c				
+ cc, max 3 linking step	os		4.6	1.533		6.439
Pose (3 to 6 seconds)			3	1	4.7	4.700
	nt line, full ice surface, dou	ble 3 turns, twizzles +		4 007	4.0	0.000
more adv. Turns)	: (1		4.1	1.367	4.6	6.288
One position Dance Sp	oin (no change of foot)		3.6	1.2	5.8	6.960
Total Technical Elen	nents		Total judges scor	e for elements		24.387
			Factor	WPI	WPI incl age	
Impairment Comper	nsation (30 x WPI)		30	5.00%	5.00%	1.500
Technical Skating Skills (Factor x Score)		2.5		3.8	9.500	
Artistic Performance & Execution (Factor x Score)		2.5		3.4	8.500	
Deductions	·	,				0.00
			Total Sc	ore for Per	formance	43.89
	Programme duration	(min): 2	Time Adjusted	Championship Wo	orld Ranking Score	21.94

	Solo	o Free Dance			Level:	6
Competition:	Inclusive Skating World	d Championships 2023 (Hyb	brid Virtual)		•	
Skater:	Anna Johnson	Sex:	Lady	Lady		ТМ
Age January 1st:	26	Age category:	Senior			3
Club:		Country:	USA		INCLUS	
Paralympic Class:	Physical	Facilitation:	Independent		SKATI	
Support needed:	None				SIVALL	NU
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 6						
	ations on any edge, c +					
	eps, additional features		6.6	2.2	5.7	12.540
	secs with max 1 linking s	tep (each pose min 3	4	1.333	6.6	8.798
seconds) Choreographic dance e	lomont		5.1	1.333	6.1	10.370
		surface, counters, rockers,	3.1	1.7	0.1	10.370
twizzles etc)		,	7.1	2.367	5.7	13.492
One Dance Spin (all pe	ermitted)		5.6	1.867	7	13.069
, , ,	,		-1			
Total Technical Elem	nents		Total judges scor	e for elements		58.269
			Factor	WPI	WPI incl age	
Impairment Compen	sation (50 x WPI)		50	10.00%	10.00%	5.000
Technical Skating Skills (Factor x Score)		2.5		6.5	16.250	
Artistic Performance	& Execution (Factor	x Score)	2.5		6.8	17.000
Deductions	,					0.00
			Total Sco	ore for Per	formance	96.52
	Programme duration	on (min): 2.5	Time Adjusted	Championship Wo	orld Ranking Score	38.61